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& B BlR BEE 47 44 91 22.0 69.0 500
Bl HiE 58 39 38 77 6.0 71.0 400
3fiL BEEH &iE 39 39 78 7.0 71.0 300
415 mA B— 36 40 76 5.0 71.0 100
5L BA F 41 42 83 12.0 71.0 80
]iva MR B 41 41 82 10.0 72.0
7L oA HIE 52 42 94 22.0 72.0 70
841 Bk 46 43 89 17.0 72.0
9fiL ha &=F 42 43 85 13.0 72.0
10431 #HE FE 45 44 89 17.0 72.0 50
1141 A BAF 39 45 84 12.0 72.0
1241 T B— 45 38 83 10.0 73.0
134 tE B 40 39 79 6.0 73.0
1441 e S 44 40 84 11.0 73.0
154z Efi #E 41 41 82 9.0 73.0
1641 ER  fHE 44 45 89 16.0 73.0
1741 [cH I1EER 45 46 91 18.0 73.0
1841 HItR B& 42 47 89 16.0 73.0
194iz x5 ®E 43 48 91 18.0 73.0
20131 FAIER  #3A 38 38 76 2.0 74.0 50
2141 =50 B= 49 52 101 27.0 74.0
22431 B BB 46 38 84 9.0 75.0
2313 Y N 51 41 92 17.0 75.0
24431 ¥ BE 44 42 86 11.0 75.0
25{i HE At 47 46 93 18.0 75.0
2614 EAX EH 53 49 102 27.0 75.0
2741 AR EH 37 39 76 0.0 76.0
281{iz XE 1= 46 40 86 10.0 76.0
29{iz BA tha 49 44 93 17.0 76.0
301 ZE  ILBA 51 51 102 26.0 76.0 50
314 = £3h 42 44 86 9.0 77.0
324 hE ERX 45 41 86 8.0 78.0
3313t AXH #FR 44 42 86 8.0 78.0
344 AR B 50 45 95 17.0 78.0
35{i BA FA 45 48 93 15.0 78.0
361 =E X 45 52 97 19.0 78.0
3741 i BA 45 40 85 6.0 79.0
3813 FOEX 45 41 86 7.0 79.0
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391 EIR  HRiL 58 52 110 31.0 79.0
401 ki —#t 50 46 96 16.0 80.0 50
4141 BA ERRX 43 48 91 11.0 80.0
42431 EBA Rt 51 52 103 23.0 80.0
43131 FIER  Hq= 52 53 105 25.0 80.0
4441 B FiE 45 45 90 9.0 81.0
4511 138 52 46 98 17.0 81.0
4641 AT H#E 46 47 93 12.0 81.0
AT ' B= 52 47 99 18.0 81.0
A81iL FER Rt 45 50 95 14.0 81.0
4941 HiE RE 47 51 98 16.0 82.0
501 mEy REB 42 53 95 13.0 82.0 50
514 WE IEA 52 48 100 15.0 85.0
52431 EH &E& 45 50 95 10.0 85.0
531 A #HE 51 53 104 17.0 87.0
54431 FNl IEE 59 48 107 19.0 88.0
5541 F oE— 54 48 102 13.0 89.0
561 XH B= 51 51 102 13.0 89.0
574 FR 48 51 52 103 14.0 89.0
BBE A0 @B% 47 52 99 10.0 89.0 80
59{iz =) S 55 54 109 14.0 95.0
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